MT-M1R: Code Ve @5)
1400

16P/291/2 Question Booklet No.......................

(To be filled up by the candidate by blue/black bali-point pen)

Roll No.

Roll No.

(Write the digits in WOTAS) .......ovevveveeereveeens &o N T T T ——

Serial No. of OMR Answer Sheet

DAy AN DEYE wvnmsemvesms s sy e s s s i i e B (Signature of Invigilator)

INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

1. Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

3. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided

at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Booklet is followed by four alternative answers. For each question, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding

row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark]).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. Deposit only the OMR Answer Sheet at the end of the Test.

13. You are not permitted to leave the Examination Hall until the end of the Test.

14. [facandidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may deterIZ'le and impose on him/her.

(3w fdn =l A afm -8 W @ §

C 9%

[No. of Printed Pages : 28+2






16P/291/2

No. of Questions /%yt € @@t : 100

Time/®%Y : 2 Hours /=02 Full Marks/qutts : 300

Note : (1)

(2)

Attempt as many questions as you can. Each question carries 3 mgrks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

g&mmmmm*ﬁmmﬁ,ammm
|

Directions (Question No. 1 to 4) : Read the passage given below and answer questions
according to the contents of the passage.

ﬁh(mmlﬂﬁ:ﬁmﬁf&aaqﬁa}aﬁqﬁaaﬁzm%mwﬁ%mﬁ
% MU | AR

Untl a hundred years ago as human we had a sipy) _
biological connect: It wag g straight forward equation :p € uncomplicate

3000 calories each of energy gut of the earth for our food an
Today that number per capita has

we
d life 'S

grown to 100000 calorjeg Sustenance.

3000 calories each to nourish life ftserr KITTHE Test of this ene stil-l need only

(181)
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2.

\181)

extract from the earth for everything else besides keeping ourselves alive. In
some countries, like the US, this per capita number runs at over 200000
calories. Some of us are concerned about this. We fret over what we could— and
should—really be doing to soften this abuse of resources. Little things fox us in
the welter of things that we get to read. What is sustainable development? How
can it be started at our homes? Beyond the ceremonial planning of green and
getting people to run Marathons of various lengths in support of the
environment, is there more that we can add to the abstract value of
‘sustainability’ What are the little things we can do in our day-to-day lives, to
reduce demand for things that people make and market? Of course, we know
that it helps to avoid a plastic bag when you can use a newspaper bag, or a
brown bag, or even a jute bag which you can use for many more years unlike a
plastic bag which you throw away in less than a week or after a few uses.
However, there’s actually quite a bit more that you and I can do without
compromise on comfort, with very little as cost incurred, with financial savings,
that you can gain on energy and water use, and with solutions that are very

feasible and within your reach. It is possible to understand our ecological
footprint and its disastrous consequences, not merely in terms of our own
behaviour as consumers, but really in terms of the impact on the environment

we make.

What is the primary concern of the passage?

(1) There is a need to save energy, specially for our future

(2) All of us sHould not only plant trees but also run the Marathon
(3) Use of plastic bags should be completely banned

(4) We need to respect the earth and consume less of_ its calories

Why does the author ask his audience to use a jute bag?

(1) Jute bags look more trendy and stylish

) It is the need of the hour to save energy to safe our ecosystem

(2 .
jute bags helps in consuming only 3000 calories from the earth

(3) Using

( 4) Jutc bags are more casily available

2



3.

16P/291/2

Which one of the following statements cannot be inferred from the passage?
{1) There are many little things we can do to save our earth

(2) Only running Marathon of various length does not help

(3) We do not depend on the earth for our food and life sustenance

(4) Many years before, our association with the nature was quite simple

A suitable title to the passage could be
{1) Let’s shift to jute

(2) How to consume few calories

(3) Save energy, save the earth

{4) The earth heading for a disaster

Directions (Question No. 5 to 8) : Choose the word that is similar in meaning to the
word given in capital letters.

fow m e 5 @ s):ﬁmﬁmwmwmﬂmmgﬁm

S.

(181)

WAIVE
(1) Restrict (2) Relax (3) Permit (4) Admit
AMICABLE
{1} Nebulous (2) Abominable (3) Harmonioug (4) Delicate
ZEAL
(1) Initiative {2) Coarseness (3) Pedagogy (4) Indolence
PROCRASTINATE
(1) Multiply (2) Stap (3) Postpone (4) Delay

3
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Directions (Question No. 9 to 12) : Choose the word that is opposite in meaning to the
word given in capital letters.

e (v go 9 ¥ 12) : 92 wenl d Ry Mg weg w fawdad® e gHUl

9. SUBSERVIENT

(1) Dignified (2) Lethal (3) Humble (4) Honest
10. MYOPIC

(1) Black (2) Gloomy (3) Farsighted (4) Perfumed
11. DOCILE

(1) Unmanageable (2) IDutiful

(3) Submissive  (4) Painful

12. PROLIFIC
(1) Barren (2) Backward (3) Reckless (4) Profound

Directions (Question No. 13 to 16) : Each of these questions contain a pair of two

words written in capital letters. Keeping in view the relationship between these two
words, select a pair of words from the alternatives that illustrates a similar

relationship. .
e 1 ﬁm):mmﬁf&qnquﬁmmﬁa%mﬁﬁ%ﬁma@

i%(qu?ﬁsﬁiﬁ%mﬁmﬁ@%@mwﬁmﬂﬂw%

@@ﬁgmwﬂﬁq@mmaﬂmﬁn

13. KEY : IGNITION
(1) Helmet : Motorcycle (2) Boot : Saddle

@) qwitch Light (4)-P Helicopter

(181)
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14. AUTHOR : MANUSCRIPT
(1) Optician : Spectacles (2) Engineer : Bridge
(3) Architect : Blueprint (4) Doctor : Stethoscope
15. WHISPER : SPEAK

(1) Listen : Bear (2) Request : Ask
(3) Brush : Touch (4) Heat : Chill

16. MAN : HUMANITY
(1} Drop : Ocean (2) Flower : Fragrance
(3) Scholar : Books (4) Frame : Picture

Directions (Question No. 17 t520)+Chaose the correct option to fill in the blanks.
féw (v@ @@ 17 2 20) : T wmt B g F R o Reees = e S

17. Those under her

are well versed in the ——— of essays.

(1) tutelage, coqxporsiﬁpn (2) teaching, writing
(3) study, framework

(4) guidance, creation

18. The

of public awareness about the disease has led to jtg Widespread

(1) dearth, incidence (2) paucity, occurrence

(3) lack, happening (4) scarcity, frequ,mcy

(181)
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19.

20‘

We to inform you that we cannot include your thesis in our library, on
the of not receiving permission from your supervisor.

(1) saddened, reason (2) lament, pretext

(3) repent, justification (4) regret, grounds

When her illness took a turn for the worst, the doctors took to the
situation.

(1) steps, ameliorate (2) approaches, better

(3) modes, improve (4) measures, enhance

Directions (Question No. 21 to 25) : Each of the following idioms/phrases is followed
by four alternative meanings. Choose the alternative that best expresses the meaning
of the idiom/phrase. |

ém (79 gewm 21 @ 25) : TS qEEU/IfF & R Ww 9w ad fu g Rl WA
foFe @1 g Hife st geEa/Ife 1 garem o gwiar g

21.

22,

(181)

See eye to eye

(1) State at each other (2) Agree

(3) Depend on (4) Make an effort
To fall flat

(1) Retreat

(2) To meet accidentally

(3) Quarrcl

4y To be met with a cold reception

6



23. To drive home

24.

25.

(1) To find one’s roots

(3) Back to original position

Ta cry walf
(1) To listen eagerly

(3) To turn pale

To be above board
(1) To have a good height
(2) To have no debt

16P/291/2

(2) To return to place of rest

(4) To emphasise

(2) To give false alarm

(4) To keep off starvation

(3) To be honest in any business deal

(4) To try to look beautiful

Directions (Question No. 26 to 30) : Find the correctly spelt words.

ﬁ&sr(md@rzsﬂao):zaﬁmx‘lmﬁwgqﬁaﬁﬁm

26.

27.

28.

29.

30.

(181)

(1) Ommineous (2) Omineous
(1) Pessenger (2) Passenger
(I) Gaurantee (2) Guarantee
(1) Treachrous  (2) Trecherous

U.) Rigerous (2) Rigonrane

(3) Ominous
(3) Pasanger
(3) Garuntee
(3) Trechearous

AN Regerous

{(4) Omenous
(4) Pesanger
(4) Guaruntee
(4) Treacheroys

) Rigoroys

(P.T0,)
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Directions (Question No. 31 to 50) : Each question is followed by alternative answers.
Choose the correct alternative.

f¥w (v@ d= 31 @ 50) : TS TA F AR Iwww W Ry o ¥ o e @
g Hfm)

31.

32.

33.

34.

(181)

A family has a man, his wife, their four sons and their wives. The family of every
son also has 3 sons and one daughter. Find out the total number of male
members in the whole famaly

w TfEn ¥ v onght, IR uell, I AR W st 37h el R W R F REr
§ft 39 ok AR 2 Q Raw d goil R @ wEn v T
(1) 4 ) 8 (3) 12 @) 17
The fuel indicator in a car shows one-fifth of the fuel tank as full. When 22 more

litres of fuel are poured into the tank, the indicator rests at the three-fourth of
the full mark. Find the capacity of the tank

o A M T g eutm @ gm-dh W 1/5 e wu RS =

.zzeﬁas‘maﬂimm%,ﬁwéﬁﬁﬁq-ﬁm%mmgmaﬁm%s

-3 i gHar FaTY

(1) 25 litres (2) 35 litres . (3) 30 litres (4) 40 litres

Find the number which when increased by 20 is equal to one-sixth times of the
new number

¥t e e, S 20 T W T T TN H 1/6 % TR A TR 2

(1) 7

ne-third the age of his father now, and was one-fourth of his

If Varun 18 © then how old will his father be 5 years from now?

father’s age S years e
(2) 45 years ——R1-40 years (4) 50 years

(1) 20 yearS
| 8



35.

36.

37.

(181)
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R T i qdaH oY Ioh A B adwR oy A ww-fed @ Tw 5 99 @ TH
g o fram ooy A - A, D 5 af wEw wF A D ooy @
gt ?

(1) 20 =¥ 2) 45 a§ (3) 40 ¥ (4) 50 ¥

If X is a positive number, then which of the following fractions has the greatest
value?

I X T e wen @, @ fefien s 3 e gen waite e

= (@) S
(X +1) (X +3)

X
) 2 (2)

What is the maximum percentage discount that a merchant can offer on his

marked price so that he ends selling at no profit no loss, if he had initially
marked his goods up by 50% ?

(1) 33-33% 2 20% (3) 16:67% (4) 50%

A 130 metres long train travelling at 45 km
30 seconds. What is tne fefigth of the bridge?

W 130 M Tl W 45 fhodo s w1 @ MRy @
30ﬁ%ugﬁmmé?ﬁ%lga"¥fw&:;%? DR LS L

per hour crosses g bridge in

(1) 250 m (2) 200 m ) 225 m (4) 245
m

PTo,)
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38. Ina 100 m race, A beats B by 10 m and C by 13 m. By how many metres will B
beat C in a 180 m race?

I00mAATE AI0m ¥ B & a0 13 m & C & WA & 2l 180 m H
de # B fr dfler & ¢ F TR wWm?

(1) 45 m (2) 60 m (3) 50 m (4) 65 m

39. A mother and a daughter working together can complete a work in 4 days. But if
the mother works alone, she can complete the work in 6 days. Both of them
worked for one day, then the mother had to leave. How many days the daughter

will take to complete the remaining work?

(1) 7 days (2) 8 days (3) 9 days (4) 10 days

@ o e T a-ue Ew s R owd # o4 R F @ a1 Tl
afy o akch wm oW, A mw W B 6 BT A @ W FHEA 2 A A IR @
ﬁamﬁmmmﬁaﬁmmﬂmmii’nmaﬁt{uaﬂﬁﬁgﬁaﬁ
e o =i ?

(1) 7 f& (2) 8 fe (3) 9 & (4) 10 fA

40. A lamp post has half of its length in mud, 1/3 of its length in water and 3im
above the water. What is the total length of the post?

ﬁsﬁﬁ%@mﬁfﬁaﬁrﬁmmm‘mﬁ,mmuammﬁw
3§lmmﬂ$w%|ﬁﬁﬁﬁ%@tﬁ?ﬁ{ﬁmw%?

() 20m (2) 15 m (3) 25 m (4) 30 m

41 In a family, the father took 1/4 of the cake and he haq 3 times as much as
others had. How many members were there in the family?

@wﬁ,ﬁm%%ﬁwu4mﬁmﬁ@ﬁﬁﬁaﬁm@l%@lﬂﬁ[ﬁtm

ofgr & R T q7?

e ) 3 | 3) 10 @) 12
10

(181)



42.

43.

45.

(181)
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A bag contains 100 tickets numbered 1,2,3,.... 100. If a ticket is drawn c')qt of
it at random, what is the probability that the ticket drawn has the digit 2
appearing on it?

9 # 100 fowe & RAw 1, 2, 3, ... 1ooam=r¢atw%_i‘|z_r&mﬁa@
ﬁmﬁmwﬁ%ﬁmm,aﬁmﬁwﬁm%ﬁ:mmzaﬁﬁﬁ?

(1 217100 (2) 19/100 (3) 32/100 (4) 23/100

In a class, there are-20 boys whose average age is decreased by 2 months, when
one boy aged 18 years is replaced by a new boy. What is the age of the new boy?
(1) 14 years 8 months (2) 16 years 4 months

(3) 15 years (4) 17 years 10 months

@ﬁmﬁQOHﬁ%lﬂﬁEﬁﬁ18ﬂﬁa@%@aﬁ%aﬁﬁ@m
aﬁaﬁéﬁmm%,ﬁaﬁﬁaﬂmmzqﬂﬁmﬁlmﬁlma@i
# Iy T R?

(1) 143 85 (2) 16 9 4 ww (3) 15 = (4) 17 3§ 10 n=

The mean of 25 observations was found to be 78-4. Later on, it was brought to
the knowledge that 96 was misread as 69, Then what is the correct mean?

25 HORWT 1 AD (Mean) 784 W T AR F 98 g A% 96 F Tor
69ugf‘cfmw%|a’raﬂmuweaﬁ)w%? ¢

(1) 79-48 (2) 76:54 (3) 81:32

complete revolutions, At the rate of ¥ 2 per m?
the playground?

150cmaawﬁmarm70cm%1@@a%ﬂmaa
7so@mmm%lt2mm2ﬁaﬂﬁa%ﬂmammng

(1) T 5,000 (2) ¥ 2,950 (3) T 4,500 (4) T 4,950

11
PTo,
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46. What would be the percentage change in the area of a circle if its radius is
increased by 50%?

R fft ga i fsw 7 50% H $ s, @ * q
2z gfg ga % &7 A frad wfewa

(1) 125% (2) 100% ' (3) 75% (4) 50%

47. In the figure given below, O is the centre of the circle. If ZOBC =37°, what
would the measurement of Z BAC ?

gjh?ﬁqmﬁﬁﬁﬂﬁﬂﬁO%lﬂﬁLQBC=37°@,fﬁ Z BAC # T F
A

B

O
N

(1) 74° (2) 106° (3) 53° (4) 37°

48. How many tangents can be drawn to two non-intersecting circles?
amﬁﬁﬁm%mwmmwmmg?

(1) 4 (2) 3 (3) 2 (4) 1

49, A person standing on the bank of a river finds that the angle of elevation of the
top of a tower on the opposite bank is 45°. Then, which of the following

statements 1S correct?

river is half of the height of the tower

(1) The preadth of the
the height of the tower are the same

(2) The preadth of the river and

The breadth of the river is twice the height of the tower

he breadth of the river is one-third of the height of the tower
12

()
@ T
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@A F FR W Ey @ oage am R A F @ R W @R A A e
N FTR 45° F I W/ 2 @ FeRifag § @ FAv-T1 Ao g 20

(1) 7§ i =g e Hit I F amen R
2) 7@ # ¥ A A I F FOew 2
(3) ¥ #t e Tw N I T A TR
(4) & | el TR H I8 = w-fer 2

The first three numbers in a series are —3,0 and 3, then the tenth number in
the series will be

W G # yom A7 Fewd -3,0 7w 3 €, D o A e won o
(1) 18 (2) 21 (3) 24 | (4) 27

Directions (Question No. 81 to BS) : Study the following table and answer the
questions based on it by choosing the correct option from the given alternatives.

¥ (v wen 51 ss):mmwmﬁmwmmmm
% I F fe Ry Mo et 4 3w Rew w0 g B

(181)

Expenditure of a Company (in lakh rupees)

per annum over the given years
ITEMS OF EXPENDITURE
Year Salary | Fueland | Bonus j’ﬁterest on| Taxes
transport loans
2009 288 98 ' a00 3y 83
2010 342, 12 | 252 32:5 108
2011 324 101 384 416 74
— e ) __‘-‘-‘_-—'_"
2012 336 133 368 364 88
3 420 142 ; =
( 2013 | | 396 404, 9g
13

(P.T.0)
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S1.

52.

S3.

54.

55. What is the apP

W_hz'lt is the average amount of interest per year which the company had to pay
during the period 2009-2013 ?

(1) ¥ 32:43 lakhs (2) ¥ 33-72 lakhs (3) T 34-18 lakhs (4) T 3666 lakhs

go&zomﬁaqa&rﬁmﬁﬁwﬁaﬁ%vﬁmﬁwﬂmm%mﬁ&ﬁ
?

(1) ¥ 3243 W@ (2) % 3372 @@ (3) ¥ 3418 W@  (4) ¥ 3666 W&

What is the approximate percentage of total bonus paid by the company during
2009-2013 to the total amount of salary paid during the period?

2009-13 & safy § FEh g R TN Fw wwaw @ oAl # U M g I
=1 =mm e ulea 27

(1) 0:1% (2) 05% (3) 1% (4) 1-25%

What is the approximate percentage by which the total expenditure of the
company increased in 2013 as compared to that of 2009 ?

2000 H T # 2013 # R ¥ Fa = § w e sl 1 gfe TR
(1) 48% (2) 52% (3) 44% (4) 56%

What is the approximate ratio between total interest on loans and total taxes

paid during the entire period of five years?
Wsaﬂﬁmmmﬁﬁuﬁlm@ﬂzﬁmﬁWWW
27 - - |

roximate percentage of total salary to total expenditure during

the entiré period? -

Wmﬁa@am@a@iﬂﬂmmmi?

(1) 42% @ 58% (3 S0% (4) 63%
14
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Directions (Question No. 56 to 58) : In these questions, choose the correct option from
the given alternatives to replace the question mark (?).

éw (w7 ¥=n 56 @ 58) : Prafifya e § Ru T fAwedt § @ fawew =1
Fifse S ywaEs fw (7) w1 WA A T w Ly

BWARNNAR
AN

(1) 13 (2) 18 (3) 30 (4) —-30

56.

T
.

57.
v:y NEA
w7 @ -1 @ 12 @ o
N ANARNNAR
D
(1) 8 @ 11 3) 9 (4 -
(181) 15
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59. Tl?c .following diagram shows 10 matchsticks forming three squares. What is the
minimum number of matchsticks that must be removed to make two squares?

= o wfem $ 10 R @ B @9 aregde oia 1 Sad
W % o ee-a-aw fead wifm R AR B g e 20 M

—a

L1
1]

(1) 3 2) 2 (3) 1 (4) 4

60. The following diagram shows 8 matchsticks forming 2 squares. What is the
minimum number of extra matchsticks required to make S squares?

i fiffa fm WRm e dRE A R @ D g i {19 g
+m ¥ fre wim ) w0-2-F0 frel Aol B s e :
| L
l

|

(1) 5 (2) 4 @) 3 (4) 2

n No. 61 to 65) : In each of these questions, a word is given in

Directions (Questio
ptions. Select the one which is farthest in meaning

capital letters followed by four o

from the given word.
fen 61 @ 65):wm%mwﬁuﬁwa§aaﬁﬁﬁmw%1
fawr (7 mtm@ﬁmﬂﬂqﬁm%maﬁﬁqwm

3 o @ faega A €
61. CONSOLE
1) B olm (2) Comfort (3) Keyboard (4) Soothe
' 16



62.

65,

(181)

REMOTE

(1) Secluded (2) Distant

DISORDER

(1) Irregularity  (2) Confusion

IGNORANT

(1) Courteous (2) Absurd -

ADVENTURE

(1) Enterprise (2) Strength

16P/291/2

(3) Isolated  (4) Crowded
(3) Ailment (4) Peace
(3) Silly (4) Stupid
(3) Risk (4) Hazard

Which one of the given alternatives contains a meaningful order of the following

words? ’

mﬁmﬂﬁaﬁﬁnmﬁaﬁuﬁ@fﬁnﬁt@w%?

(a) Family
(c) Member
{e) Country

[ 'U (C], (3.), (d); (b): ‘C]
(3) (2}, (@), (b), (a), (e)

(b) Community
(d) Locality

(2)~beh-Aal, (b), (e), (d)
(4) (), @), (d), (e), (b)

17
(P.T.0)
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67. Which alternative does contain the arrangement of the following words
according to the dictionary?

fra Pren 3 Drefifen el ®) TecEIN % HAGET T T R

(a) Tortoise (b) Toronto
(c) Torped (d) Torus
(e) Torsel

(1) (), ) (e, (@) @ @ ®, (), ©, @ (@
@) (b, (¢), (©), @) @ (@) (), ©), (@), (@) @

68. Select the number which does not belong to the series :

¥ wen &1 A e G 3 gafRE T8 R
‘ 232, 343, 454, 564, 676

(1) 676 ‘ (2) 454 (3) 343 (4) 564

69. A man is 3 years older than his wife and four times as old as his son. If the son
pecomes 195 ycars old after 3 years, what is the present age of the wife?

(1) 60 years (2) S1 years (3) 45 years (4) 48 years

@ﬁﬂﬂﬁﬁﬂmﬁsﬁm%wmgﬁﬁmﬁ
W%\ﬁﬁﬁm?ﬂ“aﬁmmaﬁéﬁ,awﬁaﬁmmm%?

(1) 60 T (@) 51 & @) 45 @ (4) 48 T

70. X andY are brothers. R is the father of Y. S is the brother of T and maternal
b uncle of X. What is the relation between T with R?

() Mother () Husband  (3) Wife (4) Son

18
(181)
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72.

Directions (Question No. 73 to 75) : Read the following passage
questions. ' :

16P/291/2

XTNMY TMBEBRYF MM S TF MEEan XFTWMENRFT A
=Y 27

(1) e (2) wfa (3) weht 4)

Vimal is 7 ranks ahead of Rajesh in the class of 39 students. If Rajesh’s rank is
17th from the last, what is Vimal’s rank from the start?

(1} 23rd (2) 16th (3) 15th (4) 24th

39 faenfat i wa § e @ @R W @ 7 W gd 2 IR oY w1 W I
¥ 1741 3, @ fomet &1 o www @ T Ry

(1) 234t (2) 168t (3) 15af (4) 24af

In a group of persons, 70% are male and 30% of the persons are married. If
two-seventh of the males are married, what fraction.of the females is single?

=t ¥ @ agg i 70% T ¥ 7 30% At i € af g ¥ o7 wm
faanfea &, @ sifvarfea Rt w0 afw T R7

1) 1/3 @ 2/7 @) 37 a3

and answer the

ﬁiw(m#@rn#?s):ﬁuﬂ%imqﬂﬁaaﬁmmm%mwl

3.

(181)

4, B, C, D and E are members of a family. There are two fathers, two sons, two
- , ’

a professional, ¢
IS a2 maje.

How is D related to E ?

band 2) Son 3 Father
(1) Hus (2) ( (4) Wite
19
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74.

75.

76.

7.

(181)

D # E & ¥ &Y 7
(1) i 2 T (3) form (4) weh
Who are the females in the group?

(1) C and E (2) C and D (3) E and A (4) D and E
e 8§ FA-@ el §7

(1) CEE (2) C@ D (3) E A (4) D@ E

Whose wife is a teacher?

freft o=t v fafiem 22
(1) C (2) D (3) A (4) B

Which of the following two States of India have become leaders in issuing plastic
photo identity cards for election in 2014 ?

(1) Sikkim and Manipur (2) Assam and Nagaland
(3) Mizoram and Assam (4) Nagaland and Tripura

m%ﬁﬂﬁf@ﬂnﬁfﬁﬁﬂ?—ﬁamzom%waﬁ%ﬁﬂﬁﬁ%
ear- frite %@ & sl ® @7 |

(1) ffem o AT (2) s S A

(3) fistrm 3T 3 (@) Tt 3R Fg

Who was conferred the ‘ESPN-Cric info-Cricketer of the Generation’ award in
March, 20147
(1) Graeme ST (2) Michael Clarke

4) Jacques Kalli
(3) Sachin TendUIKaT {fh); moqaes Bl

20
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ud, 2014 ¥ R fomofowo-fim wwi-frbe dE g IHEH T@R §
qenfa R e

(1) 19 f&y (2) TIgEe Fh (3) WA AgER  (4) I Hie™

78. MH 370, a Boeing 777-200 ER aircraft of Malaysian Airlines which went
missing in March, 2014 was a scheduled flight from which placc to which

place?
(1) Kualalumpur to Beijing (2} Kualalumpur to Hongkong
(3) Bangkok to Beijing (4) Singapore to Kualslumpur

néﬁwmﬁMﬁsma’m???mOERGﬁaﬁaﬁmﬂm mzﬁ?!?a
faftE 3em w7 @ w& a& H 67

(1) FACTEEER & AR (2) FAETER R ghrewn
(3) i @ A (4), MR ¥ ey
79. Who is the first woman to be ap

e pointed as the Chief of National Police Academy
0l Inqia:

- (1) Archana Ramasundaram (2) Damayanti Sen

{3) Sathiya Priya (4) Kiran Bedi

80. The biggest Qil Refinery in India 15 Situated at

(1) Barauni (2) Jamnagar  (3) mumbaj (4) Koilj
; i

(181) 21
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81.

g82. O.L isa undertakin

T o ged ¢ ae wreEwen wu o 27
(1) s (2) SR (3) = (4) e

Which is the most appropriate reason for establishment of Big Fertilizer Plant at
Sindri?

(1) Local existence of coal and coke

(2) Existence of gypsum from Jodhpur and Bikaner of Rajasthan for sulphate
plant

(3) Availability of water from the nearby Damodar river

(4) All of the above
m*wﬁ@éﬁaﬁw%mmmw%

(1) Fra@ T HE A @ W
(z}mm%mmﬂ%aﬁw@mﬂﬁwaﬁm

(@) whead A @ T B g
() Fwre @l

g which is involved in

M import of oil (2 oil refinery (3) oil research (4) oil marketing

_)qaasqa;ﬂ%ﬁﬁﬁm%

o

afga (011
2 ST B o de Tl (6) ¥ ogEEE A (4) a9 fwE A

22



83.

84.

86.

(181)

16P/291/2

Which index number has been recently adopted by Reserve Bank of India as key
measure of inflation?

(1} Wholesale Price Index (2) Consumer Price Index

(3) Chain Base Index {4) Industrial Production Index

i ford &% 3w @ 3§ e g @ eaR oo/ § T T
w1 ° fler B 27

(1) 9% T9 qu&s (2) IR T TEHEE
(3) ¥ IW gEEH (4) e 3T TEHE

In which year, Liberal Industrial Policy was adopted in India?

WA § JEr N A frm ol srmh w2

(1) 1948 (2) 1956 (3) 1985 (4) 199]

is popularly known as father of the Indian Nuclear Programme.
(1) Dr. B. C. Roy | " (2) S. N. Bose
(3) Homi J Bhabha (4) Dr. A. P. J. Abdul Kalam

F WA TR FEE F R am @ s ST @)
(1) o fte o (2) To THo &g
(3) it 3 W (4) Sfo T dlo Ao Jager wam
After the retirement of Anand S;j .

as Deputy Governor?
(1) B. B. Mahapatra (2} R. Gandhi

(3) Vijay Bhaskar 4) A. G. Padmanabham
23
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Tz R B da-figfy % ver onft T § fod & offw $few 4 A R -
7g R TEw fwm?

(1) Fo o WEEE (2) Ao TR (3) fem W (4) To Sho wrEmE

87. Which State is the highest milk producer in India?
(1) Haryana (2) Punjab (3) UP (4) Gujarat
WA & wif u-IaE FW a PA-A T R
(1) PIREL @ gefle . (4) T

88, According to the H. R. Service Company, Randstad, which company is the most
attractive employer in India?

(1) Microsoft (2) Google India
(3) Lenovo (4) Hewlett Packard

TFo moaﬁamﬂ,%@é@%mmﬁaﬂw-ﬁmmmm
7 . |
(1) TERTER (2) T 3 (3) @l (4) fesere awé

89. Who was listed at the top of World’s Greatest Leaders by Fortune Magazine in

March, 2014 ?

(1) Sonia Gandhi (2) Manmohan Singh

(3) Narendr® Modi | (4) Arvind Kejriwal

24
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T, 2014ﬁﬁmwﬁm.§mﬁ?égﬁﬁ$mﬁmaﬁﬁ:hﬁmmﬁm
e

(1) B it (2) v e (3) Ry A (4) R Fdara

90. What is WTO procedure to promote globalisation?
(1) Promotion of free trade
(2) Reduction of budgetary subsidies
(3) Reduction in shipping cost

(4) Promotion of foreign portfolio investment

%wwﬁmii%%qmoﬁoaﬁoﬁm—mmé?

(1) %% SR F e (2) T gEm § weh

(3) Yia-uRasT @ § et '(4)1%:&:1%%@%%%:1%%“
91. Which of the following States is the major sugar producer?

(1) Goa (2) Punjab

() Jammu & Kashmir (4) Maharashtra

At 3 3 #8171 I w7 s e
(1) mar . (2) um (3) s iR i (4) wemp

92. Navaratna Status relates with

(1) Joint Entrepreneurial Company (2) private Company

(3) Public Company (4) Power Sector Company

(181) 25
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T ®eE g=faa 2
(1) wgw Je A (2) Bl Fdt @
(3) TS F | (4) TR YF F X

93. Which of the following is the most dynamic reason of production?
(1) Land (2) Labour (3) Capital (4) Unity
mﬁ&mmﬂmnﬁ!ﬂamaﬁq-mi?

(1) 1M (2) M (3) qs (@)

94, The book title The Accidental Prime Minister : the making and unmaking of
Manmohan Singh is authored by whom?

(1) P. C. Parekh (2) Sanjaya Baru
(3) Chetan Bhagat (4) Nikhil Chandwani

The Accidental Prime Minister : the making and unmaking of Manmohan Singh
s A TR F AGH B 27

(1) dte o w4 (2) EoIE TE
(3) 3 T (4) Ffaa ELcicil

05. Which of the following centres is known for fertilizer along with steel industry?

(1) Gorakhpur (2) Neveli - (3) Rourkela (4) Naharkatia

Wﬁﬁﬁ-ﬂ%ﬁa&@%mﬂmw%msﬂmm%?

(1) TR (2) A9 (3) TG (@) e
26
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96. Who is the composer of the famous song ‘Sare Jahan Se Achha’?
(1) Md. Igbal
(2) Jaidev
(3) Rabindranath Tagore
(4) Bankim Chandra Chattopadhyay
wfrg fa ar @ ¥ smer ¥ wriewr e 87
(1) Tto Jaherer (2) RS
(3) Wsemg in (4) g =g

97. In India ‘Dronacharya Award’ is given to whom?

16P/291/2

(1) Sportsmen  (2) Coaches (3) Umpires (4) Sport Editors

R G g e fer w27
(1) GeraErg (2) s (3) myRR

98.

(1) Personal_ computers (2) Supercomputers

(3) Laptops notebooks (4) Minicomputers

frafafies & @ 1traaﬁiﬁa,ﬁnmnannzﬁqmrﬁﬁqa:%?

(4) B« wmres;

Which of the following is the fastest, biggest and most expensive Computers?

(1) W7 T (2) gy (8) AT ey () Py

(181) | 27
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99. According to the US Intelligence Community Report, Indian Economy would

100.

dominate the economy of the world by which year?

Powo T R RO ¥ ogeR fee a o W oo &
fava #t snformen w wy= & sEn?

(1) 2020 (2) 2025 (3) 2030 (4) 2035

National Women’s Day of India is celebrated in the memory of which
personality?

(1) Mahadevi Verma (2) Anne Besant

(3) Rani Laxmi Bai (4) Sarojini Naidu
mwn@qq%wﬁan%aaﬁmsﬁu{%ﬁwmé?

(1) werdt @t (2) T SEA (3) T wefeE  (4) WO T

* o &

a8 D/6(181)—1500
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